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N A A
By T 9 4 |t % By T 7 4 | &
w5 LS w5 LS

Hil —TH 267 673 336 337 H —TH 85 226 113 113
Hil —TH 401 | 1,012 508 504 H —~TH 165 405 201 204
Hil =TH 152 335 172 163 # =TH 360 895 436 459
Hil T H 187 393 198 195 | WTH 90 216 103 113
Hil HTH 450 | 1,227 610 617| R HTH 247 625 307 318
Hil NTH 350 744 379 365 R ANTH 640| 1,511 745 766
Hil T H 131 368 181 187| &8 — T H 276 722 366 356
Hil ANTH 220 561 296 265| 575 T H 1,199 2,888 1,460| 1,428
o JR HT 190 422 205 217 H i 50 148 76 72
BET —TH 184 402 198 204| HB —TH 314 671 358 313
BT —TH 179 354 165 189 8 —TH 228 600 300 300
BFHT =T H 331 755 371 384| HEr =TH 222 593 295 298
BT UTH 344 830 403 427 HEFE—TH 718| 1,676 847 829
FHT HTH 252 599 290 309 HHH T H 261 657 327 330
BT NTH 380 940 478 462| HEFHE=TH 406( 1,042 511 531
BT —TH 312 701 351 350 HEHMTH 337 849 427 422
BF —TH 493 | 1,169 580 589| HEFETL T H 251 647 308 339
BFE =TH 81 193 97 96| Jt Hp 1,108 3,167| 1,586 1,581
e HT 0 0 0 0| H #F [ H 2,055 4,405 2,189 2,216




AN H AN H
BT T 5 4 |HE &7 3K BT T 5% 4 | 7 3K
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HU —TH 116 328 162 166 FrHFUT H 164 418 212 206
H 2l 715 1,868 961 907| #riRFI T H 242 651 320 331
B H 268 755 378 377 FEH —TH 316 826 419 407
R LA H 108 283 147 136 FEH T H 648| 1,666 860 806
7 B 138 386 196 190 FEA =TH 637| 1,669 836 833
HY T 12 32 12 20( FEH UTH 448 1,021 494 527
N3 M 989 2,639| 1,298 1,341| FEH LT H 4 13 5 8
¥ H 1,038| 2,830 1,386| 1,444| A58 ST H 844 1,921 943 978
AP —TH 367 961 492 469 FEH ETH 767 1,808 934 874
A —TH 171 455 225 230| FgH \TH 209 607 292 315
A5 =TH 149 374 195 179 784 LT H 326 889 444 445
AR T H 238 631 319 312l 7 G| 694 2,086 1,032 1,054
A ETH 220 489 264 225 >k H 597| 1,549 805 744
B —TH 380| 1,020 493 527| ¥ & Jf 1,377| 3,781 1,870 1,911
By —TH 279 642 312 330 Fig 333 976 495 481
Bty —TH 142 414 210 204 W8 —TH 779 1,986 984 1,002
By U1 H 173 488 241 247 W T H 726| 1,840 900 940
B Ji 244 742 365 37| N &\ I 909| 2,323| 1,119 1,204
BHIFE—TH 503 1,233 588 645 E &= HF 274 806 409 397
FEFETH 340 809 406 403 H &% 22 99 47 52
FEFE=TH 343 802 395 407 o2 R 35 124 55 69




AN H AN H
B T 5 4 i 2K 0y T % 4 T
w5 LS w o F '8
[ 169 441 183 258 & A 194 694 339 355
fn H 148 464 226 238| K o 31 122 61 61
il + 337| 1,002 471 531| i (i} 56 181 81 100
A A 67 209 94 115 3 —TH 327| 1,089 555 534
it {ES 58 187 95 92| N T H 383 1,259 633 626
H o 88 296 146 150 AN =T H 329 1,115 536 579
ikl A 1,018 2,861| 1,405| 1,456|t23EMT H 529| 1,798 894 904
i K 956 2,542 1,253 1,289| ik H 166 559 273 286
Al HT 240 547 267 280 Lk = 143 523 257 266
= O H 2,652 6,699 3,332| 3,367 F E % 74 238 115 123
DA g 55 215 98 17| = % 34 113 57 56
E H 48 199 101 98] K Hh 42 140 70 70
15 K 174 601 294 307| JI 151 485 235 250
24N R’ 42 146 74 72 WE—TH 456 1,175 606 569
MK 108 317 160 157 WE_TH 388 955 480 475
7N i 671 1,877 918 959 WHEE=TH 410 1,012 520 492
rf H 81 287 148 139| AR FE — T H 77 184 85 99
K B a4l 14l 69 72| R T H 02| 280 134|146
% A 36 148 75 73| R =T H 85 266 130 136
JtEE—TH 233 630 306 324
FEE T H 217 559 265 294
HJEA =T B 174 463 224 239
Sl ] 91 264 132 132 g 42, 884(112, 144| 55, 690| 56, 454




